o E = N EHENE x = %

&5 = RIE = E = prs b3

5 [¥9 11,960 SINTHREBETET IR 4,820 m|# # 7140 m

8 8,170 SNTHFERETET Bi#A 3,960 4180 |mEiEHER 30 m

13 1,210 SIHFERETR T BN 1,220 0 |m@sEs 10 i SEBHIR
20 41,510 SNTHFERETAT HihR 4,780 36,730

21 10,230 S)IH—FEAT BH#IA 1,320 8,910

27 16,020 S —FETET Bi#A 2,730 870 14,160

30 20,140 ST ERETETHiA 4,860 15,280

31 43,310 ST ERYETR T BN 990 42810 |EiEEES 490 m
49 7,750 SR IETE T B it 2,730 5030 |EEEERE 10 m
61 12,600 SNTHAEREI=T Hi#R 1,690 10,910

62 2,520 SIHFEEI— T BN 150 2,370

71 11,130 ST FEET— T Bihig 140 10,990

74 101,220 SNTHFERET—T Hi#hR 3,560 97,660

77 15,010 ST EEMET— T B 3,080 12,480 |EREFEEE 550 m
83 12,490 I)IH—FET=T Bt 3,450 9,640 |EIERER 600 ni
87 4,150 SNTH—BET =T Bt 1,360 2,880 |mEIEFEEE 90 mi
104 2,760 SNH—FBETET Hi#A 2,760 0 |&EpHIE

131 1,230 S ERET=TH#R 1,230 0 [£IBHEIRE

137 530 ST ERETET B iR 530 710 710

144 33,240 S ERYETEN T B N 30 33700 |EiEFEES 490 mi
146 42,680 SN EREI=THRA 910 41,770

159 3,330 ST BN T B R 1,080 2,250

166 600 SNHEIEI=T Hi#hR 600 0 [£ZBHIR

210 5,290 ST IETAT HiR 370 4,920

213 6,740 SLIATRS BT T B it 1,400 5,340

219 900 SNHEIETE T HihR 900 0 [£IBHEIRE

230 6,460 SRS )IBT—T B it 870 5,590

236 34,210 SLITAEETE T BN 6,300 28800 |EiEFEENE 8o m
239 13,570 3)II BT T B A 230 13,340

248 12,210 7)1 HTHART = T B A 700 11,510

252 10,990 SNTHAHEI — T B#hiN 980 10,110  |EfE#EERE 100 i
255 3,080 57 )|| BT —T B #hiN 2470 610

258 4,510 SIFEET— T BN 2,080 2150 |EiERER 280 mi
261 11,100 7)1 HTHART — T B 2,130 8,970

272 10,390 S)IHTEET R T B A 1,030 9,360

304 770 STHERIZ T BihiN 770 0 [£IBHEIRE

311 9,110 SIHER=THRA 1,910 7220 |EEEEH 20 m
315 27,890 S)IHEEEI=T BN 850 27,040

318 250 SNHEER—THR 270 0 |EsE 20 i, SEBHIKR
323 10,550 MINTEER_TH#A 150 10,400

352 2,070 J)IHELREI=TH#N 2,070 0 |&EpHIE

359 800 MIHELTRETETHA 800 0 |=ERHIBR

378 3,370 SLTHERETAR T BN 3,370 0 |2EHIR

390 29,310 STHFERETATHRR 350 28,960

394 1,350 S ERET T BN 170 1,180

412 3,240 S)IfERET T B 1,120 2,120

416 1,470 SIS ET R T B it 1,470 0 |&EpHIER

421 580 SH—FE=T BN 580 0 | ERHEIBR

422 2,490 S)IH—FE—T BH#A 1,180 3,670




429 1,380 S —FEET—T BN 540 840
433 2,570 M) —FEETET B A 2,560 0 EREER 10 mi, 25081
435 6,070 SNTRIETRE T H#A 2,990 3,080
pEdES 303 # — 5 303 #
b ] &
X 1317,310 m 1317310
51 & 3 & 342 4 |EIEFREEE 2950 mi
B 355 fF 87410 ni| 2,760 ni 1,862,120 i
1,943,820 m !
186.21 ha
EEHE
& $B(E 2l S H
1TMEDEE (FEMBROLEY)
R 2REHOEE GEROESY)
SEBEOEE 355 ¥ - 342 14
# 194.38 ha # 186.21 ha




